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Assessment Name : OPRB CBRE Warder- 23rd Dec 2022-SL.-1(A)
# QUESTION
Subject: General English | Chapter: Set-4

[ choose the corner table, seated myself and started skimming through the newspaper.

1
Q) The above sentence is a
A. Simple Sentence
) v B. Compound Sentence
Options
C. Complex Sentence
D. Wrong Sentence
Q@2 She would not let me the letter.
JA. read
o B. reading
Options
C. to read
D. have read
Q@3 [ am young and strong, [?
A. amn't
B. haven't
Options
S aren't
D. isn't

Q@ "Halt !" shouted the officer to his men. (Change into Indirect Speech)

A. The officer shouted to his men that they should halt.
] B. The officer shouted to his men that they shall halt.
Options _
Y By The officer commanded his men to halt.
D. The officer shouted to his men that they will halt.

Q5 I was very cold,

A. as | was wearing my coat.
) v B. though I was wearing my coat.
Options )
C. and I was wearing my coat.
D. but [ was wearing my coat.
Q(6) A friend of mine phoned me to a party.
A. for invite
) B. for inviting
Options o
JC. to invite
D. for to invite

Q) He stuck too his resolution.
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Here the underlined word means

A. solution of a problem
] v B. firm intention
Options )
solution
D. determination.
Choose the correct antonym of
Q® | . ..
Justice :
A. faint
) B. depression
Options
unfairness
D. captivity
QM The government intend to bring in a new regarding the sale of alcohol.
A. legislate
B. legislative
Options )
legislature
JD. legislation
Q@0 Ifl you, | would buy this mobile phone.
A. was
) B. had been
Options
JC. were
D. am

The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until Italian
astronomer Galileo heard about the invention “that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a

Qan magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses —and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

When was the first primitive telescope invented?
A. Late 1700s
JB. Early 1600s
1709
D. 1609

Options

Q(12) | The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until Italian
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astronomer Galileo heard about the invention ‘that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a
magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses — and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

How many hours did it take for Galileo to develop an improved telescope?

A. Around 24 hours

) B. Exactly 24 hours
Options
More than 24 hours

v D Less than 24 hours

The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until [talian
astronomer Galileo heard about the invention “that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a

Q(13)  magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses — and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

How many magnification lenses were used by Galileo in the manufacturing of

telescopes?
A. Less than 30 lenses
B. Exactly 30 lenses

Options
More than 30 lenses

vIL Nearly 30 lenses

The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until Italian
astronomer Galileo heard about the invention ‘that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a

Q14) magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses —and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

What enabled Galileo to see the moons of Jupiter through his telescope?
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A. Good quality lenses
B. Scientific examination

Options
W, BothA & B

D. None of the above

The first telescopes built in the early 1600s were very primitive inventions allowing the user
to see around 3-times further than the naked eye. It was not too long, however, until Italian
astronomer Galileo heard about the invention “that through use of correctly-positioned lenses,
allowed people to see things a long way away. The tools used in the manufacturing of the first
refracting telescope were all Galileo needed to know and within 24 hours he had developed a
better one. In fact, the process of improvements Galileo made on Lippershey’s telescope was
quite dramatic. Whereas the original version had a magnification of 3, the new telescope had a

Q15) magnification of around 30. Galileo achieved these extraordinary results by figuring out the
combination of the positions of the lenses and also by making his own lenses that were of
better quality. Although he originally thought they were stars, the better quality lenses — and
some scientific analysis — enabled him to eventually use his telescopes to see the moons of
Jupiter. Galileo’s refracting telescopes — so-called due to the way they handled the light that
passed through them — were the standard at that time.

What did Galileo wanted to know?

JA. Tools used in the making of a refracting telescope
) B. How many magnification lenses was used
Options
C. Both A & B
D. None of the above
Q (16 Translate in to English:-
e FIeRIM ARIR0IR 6< 6¢1l TG FIF AR AIRT |
A. He was working with me since yesterday morning.
B. Since yesterday morning he was working with me .
Options
He has been working with me since yesterday morning.
D. Since yesterday morning he had been working with me .
Translate in to English:-
Q(17) 5 -
9Q dalem 694 29 6/LR6R dLgml |
A. The train reach the station at day-break.
B. The train reaches the station at day-break.
Options
JC. The train reached the station at day-break.
D. The train reaching the station at day-break.
Translate in to English:-
Q (18) o 2
000 69Q YMP P61 AL ?
A. Which school of Cuttack do you will come here ?
) B. Which school of Cuttack did you come from?
Options

Which school of Cuttack do you come from?

D. Which school of Cuttack does you come from?
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Translate in to English:-

Q19 -
2igsl 9 FIRB0IR AN 2R 689 |
A. The examination can be begin from next 6th.
B. The examination was begin from next 6th.
Options
SO The examination will begin from next 6th.
D. The examination has began from next 6th.
Translate in to English:-
Q20 o
6RELEIR0I 64 60lltl QuE ?
A. Which long have he been sleeping for ?
B. Which long has he been sleeping for ?
Options
How long have he been sleeping?
s D. How long has he been sleeping?
Subject: Odia Language | Chapter: Set-4
R°AUR AFRQR A0 BG2 2GRS FAS AR
Q@ : -
Speak something new at the beginning of the lesson.
A. dioYR 2IAA6R &8 gl K2l FER! QAR |
B. dIoYR AIRRER @R g2l el *EYM |
Options L L
dIoYR 2INHER a8 G2l @2l LR |
v D. dIoYR 2106 && gell @2l L |
R°AUR AFERGR A0F BF2 2GRS TS AR
Q@ ; .
The boy is always playing cricket.
JA. JMIT A9696R G6RT 65158 |
B. ImIT 996967 §6RC 65igAmI
Options o _ _
dmio' I9696M Q6N0 65T |
D. dMIS 696R 696m T6RT 6516 |
0 R°AUR1 2R 0K 332 2AQRNL AT AR 1
Knowing him to be a thief police arrested him.
JA. Glg 6919 691M FISAIR 6TINY RIg 26 [EM |
ot B. 6dIME 21g 6519 681 GG 26T FEM QIE 1
ptions - _ _ i
6010 6Q1m WISIHIB 6UIMY ©IF 2I6NY AN6S F1¥|
D. 0lg 6919 691 RIGAIT 6AIRL GIq 2R ARG |
o 9569999 92 96288 QA G6R QIE - F69I9 QRGES FRIN 609 FT YaeR 21l

N ?
Options
A. IRl d%
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B. %196 ¢gg
6719 269 RE
/D, 92I9¢l *Tml

296898 AI0NA 81 6R FAINYSI YT A9, AGERT ARNACA §2 |

2199 AIRT! | ARRIFFER SSAIS 696016 YIF6R ATE LRGI QUTTRI | YOFIF 9LAB-
6619 YGRS ARCKAER Sl Sl R 6T 696 RITIER | ] SIFA E VS,
AGEYY | 65169 €11 6918 RIJU6R NAIREREM | IR FA gim 6N AL 699 |
CIRAHISIQ GF 65@ SRSl 69R | YRR 6ANAINT VARG TR UL o
| TGN RELEULAT AR G2, 6N FEERIF FAUR | L6QS AFIAGR SIS TR
R QPR 60R2IRA | FRRFNGRA SIE! 92 g9 | PR ARG QULIATEM G668 G6a
6CPRRIG QIT 6QIRAN | 7Y F1S 69IIRY 6TRYNFR 261 SIFQI 21N, ARl YR 6TFAR
| AgF1 Vg J9l LR 69ISTIe FPRIRM AIF6R AR, JFl AFER GRS |

eaal A6 FILIF AIRIAYER 92, 6AISIN FESIRIG AR 2

QB

A, 2I0Q 2969 9eU8e AITIAYER §2), 6TIHR L°EERIT SRR |
Soions /B. 206 90969 IGSIN 2FI6089% IRIAN6R 52, 6dIH TSRS FAUR |
a0 A6 SV AILIAYER F2, 6N FEEIRIE FUR |
D. 290G 9F96Q 6UINY RRY6ULAT AITITYER G2, 6T F6ARIE FAUR |
Q6) 123 - 92 0] 9RG689T '€ 62 2
JA. gl + 98
B. ¢2q+Q@
agl + 298
D. ag+4

Options

AFERCT 0L BI' G6R FAUININYSI IFEL AAR, AFERE 2ARIAECR &2 |

2199 (132! | ARFIFFIER 2ISAIY 696215 YIF6R NS LRGI SUTIRI | YLFe 9LIE-
6619 g9RIS AINCRAER Sl 6l R 6T 69FN6Q RITFER | ] FIFA 9F OB,
JRERY | 6£116% ¢ 698 QIHY6R NAIRCAEM | IR AR g 6B ALY 654 |
GIBAGIFIQ AN 60R FHINRIG 6QR | YROR 6T SIBASIFIG SIFAR UL AR
| AFFIN REI6ALAG AR G2, 64T TEFRIF FAURX | A6GR AFA6R SIFAS GAR
Q% IEPeR 69R2IRQ | IR GILl 2l €9 | AIFAQ ARG ILIDTEM G F6a
6PRRIg QIS 6QIRAN | A §19YS 69IULY 6TRINFA 96! FIHIGI 2, ARl IR 6T
| 2190 VE0g D9 99 691SLIS PRIRM AITER 6UIRS, FIAF TSR GRS |

2696 de96Q @9 ARQAIes U2 QI6S §695¢ £9°2

Q)

A 26RS AFA6H QRIS SIRSAIRG 92 Q6T 56956 949 |

o B. 2606 97069 QIBAIE SOSAINS 92 §I6e 86956 94 |
vC. 2609 9069 SIgaId 9R9eIe® 92 QI6S §6956 g4 |

D.  26R% 760 IRQ I8 9ReAIeR 92 RI68 QRIR 9 |

678 9969 9N 618 5912 |

Q®
(A) aidlel  (B) Aidial (C) didlldl (D) aalel
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REA. Al
B. aigiél
Options
C. algI&l
D. agiél
0o QUYS FRSIR JRULIF IR [9 |
 Q9GR KI ORI 1T |
[
aeg
Options !
il
JD. gdiél
i) o 959 FA91E 26NUR I8 '8 68 ?
3l
A. (o]
B. S
Options _
C: P[0
/D. RJQ

Q1) 2iF FEMIFIER JEOR AFYIERER ARG @TCN | - 981 IR & g QURY 2

A. oled
v B. dam
6dlGiq
D. a4l

Options

AFERAT AIORA I’ F6R TAINNYS| YEYYLTR AR, AFERT ARINER 2 |

2199 FIE! | AR°QIFFIER 2IBIAS 6R6SIT FIFIER TS LG QUITARI | YIEe LAUR-
6419 ZLR2S ARCKRER Il Gl g 6T 6DRNER TR | €] TIFR 9B OB,
AgEASY | 661166 F1&l 698 RIFI6R MIINELEM | IR IR g 6T 2G| 694
GI2RGIRIR Bl 600 HRRG 69Q | JRER 6T ISR 2FLUR QUL /Q
| AT REACALAG 2T §2, 6D TEAIRIR FAUR | 2A6KR AFIAER SIS TR
@0 dIEPeR 69R2IQ | IRRMINRR QIR 92 £ | 2IFAR IRIG QLG G6e G6q
6PRRIG UG 6QRAN | B 1B 6NTF 6TRINFR I SIFRI 21, AFYI YEQ 6PRR
| 265 ©eag 99l 9LQ 698aIe FRIam AIFeR 6AIAS, Jagl Ifea SICIRS |

19D 6518 651N SIS @R 219 2

Q(12)

Options % 199 69199 651N GI1AG! 219,944 aea 9SQ ISR 2IFAG 6T AR

|
B. 4169 65196g 65IYSIS SITGI 2IN.a8Y YR SISAIR TSR 6FTQ! Tlg |

c. 9199 66109 6ShysIa GIAIGI a1, 9elY aaf 9ER SICIR JIFIR 6 aliel
S
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sD. 199 66106F 65Ty SITQI 21, 98Y Y SlcIR 2L 6PAR! AR |
AR ARG A0S 32 AGRIQ SAR |

Q(13) o . .
More and more buildings are being built.
A. 2R R SR 68 AR |
~ |lvB. IR 2RYF AR GAUR 68Q2AR |
Options o
C. AR 2RYF AR TR 6EQ |
D. YRR 2RYF AR TR 6N 2R |
Q (14) A998 9T6R, 'J 2R 90 9IRSIg AT | ALY JRIER FT6R, 'FIF 2IF 10 AGIRES
6QIN QEEM | - YT 9°6WUE6Q QRILIQ QILly GRS ?
JA. Q@ 90eEe
B. a8
Options
47 QGe
D. gelg

Q(15) G698 6996 I9 59AR QIRY 26T 2
JA 218 IR AZGIMI !

B. dmIG 6eigesiy 9EoImI |

C. TG 6990 9GeImI 2

D. Q12 NG 6a@2d |

Options

R°AURT AFERAR A0R BT AGRAIS TAR AR

16
249 I saw him cross the road.
A Glg QY ABHH 2R9IR ¢ 69R |
/B, Qg QY ATFF SAQIQ ¢ 69YR |
Options . _ &
C. 0lF QAT RRIR ¢ 6264 |
D. Glg QY ALK FRRIR § 69HR |
AFERLT UIOKR G1' TR TAUIINYS| FYYETR QAR AFERT ARINER G2 |
eC99 FIAE! | ARRIFFER AHAIY 606215 FIFER TS LRR LUTTR | gLEle deE-
6619 g92RI ARCINES 6l 6l g 6T 69RI6R AITFER | ] FIFA F VB,
ARERY | 65116C £} 698 AITIER NIINETER | IR IR T 6N AL 69 |
Qar ©essieg A 657 HIRFIG 642 | YRR 6ANANGT FISAIFIG AITAR QULE /R

| AT RFA6AFAG 2R G2, 6DISIA FEARIA YR | ACKR AFIAER Sl TR
A AIPER 60R2IRA | FIAANRER BIL 2] 99 | 2IFFIQ ARIY QILIFER Q67 Q67
6CPRRIE AT 6QIRAN | B F1S 6AUF TN 6! 1T 21, AR YR 6PRR
| 2Ige ©eag J91 99Q 6918LIe PAInR AId6R 6AIRS, JFl AIEER AICAUIRS |

6969 ARKIGF 500Y GIAAIEFER TR SUTRI 2
Options |, o099 €61160 2RIEE §20Y giCIoa6n 2ag QUM |
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7B R(99 F1ITLIER ARRIFE TR QIFFIFFER @R QUITRI |
. er99 F19QI6Q 2ARRI5F FR9d FIFFIF@6R L@l QUITMAI |
D. er99 €191916Q 2RIEF Fa9d QA6 e @l QUIAMRI |

2AF68eT dIORQ ¢I' e6m QAIYINYL JFCaR A9, 2AFERR 2ARIAECK G2 |

0199 FIQE! | ARRIFAER alisidlst 6R62IT gIFlIER QTS LSRG @qmm I %Qéi@ gdealt-
64119 9R2IF1 AREIMER ali ol Qi QUGG 69<I6R RITIGIER | G]_GIG?Q Qe W,
APEYY | 6€16€ F13 698 Q16 MIINELEM | AR AR g 6QUNE AL 699 |
CIBASIRIQ AT 62R SRS 69Q | YRER 6QUNFNFGF FIBAGNFIG SR YLY /Q

18 | ~ — 2 N
QI qreien RELEALAG AR 2, 6SIA FEARIF FARX | 26TR A6 AIGAE G2
A QIFP6R 68R2IR | FALFNLFR GILI 92 99 | 2IFOR IRIR SILITEM Q68 T68
6PRRIg QUT 6L | 7 F1YS 601LF 6TIRINFA a6l FITQI 2N, ARYl YR 6TFRQ
| 21951 QLG I YIQ 69ILEIe TaInm AITER 6UIRS, Ae! QISR UK |
gesie geale faR 6qlhs 69<16Q RITIJER 2
A gede aLIqua ol ol R 696N 699169 RITYER |
s B. gede geaia o ¢l 9 aaegel fQlem |
ptions
ZCs gade geaia il ol 9R 611 699169 RITRI6R |
D. Jedie ARIRIR 9l 69 9 FFEARIER MITEM |
9RI996Q gRl8 /Ql
Q(19) ~ H
gl 9ERIQ AR 2AR-
A. LI
B. A
Options
7€ QAL
D. asal
QALY QA QU |
Q (20) 4 8
AUEY-
A. digk
B. 3 [y
Options
giong
s D. giee

Subject: General Studies and Computer | Chapter: Set-4

Q) The first Governor General of Bengal was

A. Lord Cornwallis
B. Lord Clive
Options
Lord Wellesley
v D. Warren Hastings

Q (2)  Which of the following helped the production of handloom cloth?
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A. Imposition of export duties
) v B. Technological changes
Options ]
C. Government regulations
D. Import duties

Q3 By what name is the Ganga known in Bangladesh?

J A Padma
) B. Bhagirathi
Options
87 Rupnarayan

D. Nubra
Q4 Where was the first cotton mill established?

VA Bombay
B. Ahmedabad
Options
. Kanpur

D. Madras
Q®3) Wind power is employed prominently in
A. France
v B. Holland

(] Saudi Arabia
D. Canada

Options

Q (6) Which Union Ministry is associated with the 'Credit Guarantee Scheme for Startups (CGSS)'?
A, Ministry of Home Affairs
) B. Ministry of MSME
Options
C. Ministry of Finance

v D. Ministry of Commerce and Industry

Q) Study of atmospheric phenomena is called

A. astrology
) v B. meteorology
Options '
@i seismology
D. astronomy

Q(8) In the fist week of which month is "Vana Mahosatv' observed every year ?

A. June
) v B. July
Options
C. August
D. September
Q¥ | Animation schemes can be applied to in the presentation.
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A. All slides
B. Selected slides

Options
C. Current slide

JD. All of these

Q (10) = Which of the following is the weakest acid?

A. HI
B. HBr
Options
%460 HF
D. HCI

Q (11)  When is World Cotton Day celebrated?

A. October 09
B. October 10
Options
JC. October 07
D. October 08

Q(12)  Who among the following was not an exponent of Bhakti movement?

A. Ramananda
] B. Kabir
Options
C. Shankaracharya
JD. Nanak

Q (13) | Which of the following natural regions is known as 'the big game country' or 'a land of safari'?

A. Tropical deserts
] B. Equatorial regions
Options
Temperate Grassland regions
JD. Savanna or Tropical Grassland regions

Q (14)  Which of the following statements is correct ?

A. You can apply transition only to first and last slide.
) B. You cannot hide any slide.
Options o ' o
You can create custom animations using Animation Pane.

D. You cannot provide more than one animations to a single object.
Q (15)  The full form of TCP/IP is ;

A. Transformation Communication /Internet Program
) B. Translator Control/ Internet Control
Options o
Transmission Control Protocol/Internet Protocol

D. Transport Control Program/ Internet Protocol

Q(16)  How did the mill owners organize the recruitment of workers?
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A. They were recruited through tests/ examinations.
B. Selection boards used to be set up.
Options /C Owners employed through jobbers (very often the jobber was an old trustworthy
’ worker).
D. Family members of the owners were recruited.
With the growth of colonial power, trade through the new ports of Bombay and Calcutta came
QA7) "
to be controlled by:
A. Indian merchants
) v B. European companies
Options _
The East India Company
D. British Parliament.
If you went to send the same e-mail to more than one person , you can type multiple e-mail
Q (8) ,
addresses separated by
A. Bracket
) v B. Comma
Options
Hyphen
D. Slash
Q (19) Presently, the Jail Department. of Odisha follows the rule and regulation of which of the
following manual ?
A. Odisha Prison Jail Manual,2020
) B. Odisha Modern Jail Manual,2020
Options
v C. Odisha Model Jail Manual.2020
D. None of these.
Which IT company and the Indian government will collaborate on a programme to educate its
Q0 digital it?
gital toolkit?
A. Apple
: B. Dell
Options

JC. Microsoft
D. Wipro

Q (21)  Rabies is caused by

JA. virus
) B. bacteria
Options
protozoa

D. All of these

Web address can be written as words or as numbers.

Q(22)  For example:www.sofworld.org might have an address number of 63.141.53.0. What are these
numbers called?
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A. Uniform Resource Locate Number
) v B. Internet Protocol Address
Options )
C. File Transfer Protocol Address

D. ISP Number
Q (23) Among the following which gas is not an air pollutant ?

A. Carbon monoxide
. B. Carbon dioxide
Options .
G Nitrogen

v D. Sulphur dioxide

Q (24)  Deciduous trees are those

A. that grow up straight
) B. that grow plenty in dry places
Options )
C. that never bear fruits
v D. that shed their leaves during a certain session

Q(25)  Which state has become the first state in the country to launch Gati Shakti Portal?

A. Karnataka
) B. Goa
Options
v C. Gujarat

D. Kerala

Q (26)  Name the first industrial country in the world:

A. France
v B. Japan
Options )
C. Britain

D. Germany
Q(27)  Patora Dam is situated in :

v A. Nuapada
B. Nabarangpur

Options
C. Khordha
D. Puri
As per UNICEF's report, over I million people has displaced in which South East Asian
Qe8 nation?
A. China
7B Myanmar
Options

Sri Lanka
D. Afghanistan
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Q(29) Anelectric fuse can prevent accidents arising from

A. an overload but not due to a short circuit
) B. a short circle but not due to an overload
Options o
1 Cx an overload as well as a short circuit
D. Neither an overload nor a short circuit

Q (30)  Positive rod in a voltaic cell is

v A. copper plate

) B. silicon
Options )
zinc plate
D. carbon rod

Subject: Numerical Ability and Reasoning | Chapter: Set-8

Q (1) x-y=0andx+y=2 What is the x-intercept of the graph of the pairs of equations ?

A. 0
v B. I
Options ;
D. 2
QQ@) A dealer makes a profit of 20% by selling an article. What would be the percentage change in
the profit per cent,if he had paid 20% less for it and the customer paid 10% more for it ?
A. 225%
_ B. 125%
Options
160%
D. 200%

In the following question, five words have been given out of which four are alike in some
Q@M manner, while the fifth one is different. Choose out the odd one.

(a) Guava (b) Litchi (¢) Papaya (d) Watermelon

A. Guava
) B. Litchi
Options
Papaya
JD. Watermelon
Gopal went to office, which is 3 km Westwards from house. His wife went to market which is
Q) 4 km Southwards. If the husband started towards market to meet his wife along the shortest
route between the market and the office, then how much distance will Gopal travel to meet his
wife and in which direction?
A. 5 km, South
) B. 5 km, East
Options

5 km, South-East
D. 5 km, North-East
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The daily wages of a worker increases by 20% but the number of hours worked by him per

QE) week drops by 20%. If he was originally getting Rs 500 per week, how much will he get now?
A. Rs 400
) J B Rs 480
Options
C. Rs 360
D. Rs 380
0 (6) 12 men can complete a work in 8 days. 6 days after they started working, 4 men joined them.
How many days will all of them take to finish the remaining work?
JA. 9
i B. 10
ptions
12
D. 15
Q) If a box of sweets is divided among 24 children, they will get 5 sweets each. How many
would each get, if the number of children is reduced by 4?
A. 12
B 6
Options
C. 8
D. 10
Q (8) A fruit seller makes a profit of 20% by selling oranges at a certain price. It he charges Rs 1.2
higher per orange.he would gain 40%.Find the original price at which he sold an orange.
A. Rs 5
B. Rs 4.8
Options
Rs 6

vD.  RS720

Q(9)  The least number which when subtracted from 1850 makes it a perfect square, is

A. 3
B. 7
Options
J Gy 1
D. 11
Q (10) On dividing a certain number by 357, the remainder is 39. On dividing the same number by
17. What will be the remainder?
v A. 5
Oni B. 3
ptions
-
D. 6

Q(11)  If one factor of the equation 3x> - px +2 =0 is -1, what is the value of p ?

Options = 4 3
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B. 3
C. 5
J/D. 5

Vinay got thrice as many marks in Maths as in English .The proportion of his marks in Maths
Q(12)  and History is 4:3.1f his total marks in maths,English and History are 250,what are his marks
in English ?

A. 120
B. 90
Options
40
D. 80
Q (13) A.B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can A
do the work if he is assisted by B and C on every third day?
A. 12 days
v B. 15 days
Options
16 days
D. 18 days

Father is 5 yr older than the mother and the mother's age now is thrice the age of the
Q (14)  daughter.The daughter is now 10 yr old.what was the father's age when the daughter was born

?
A. 20 yr
B. 15 yr
Options
25 yr
D. 30 yr

Q (15) The average age of boys is twice the number of girls in a class. If the ratio of boys and girls in
the class of 36 is 5 : 1, what is the total ages (in yr) of the boys in class?

A. 490

) B. 196
Options

420

s D. 360

Q(16)  What is the number if any prime number is equal to its square ?

A. 0

B 1

Options l
D. +1

Q (17)  Which of the following is divisible by 37

Options | /A, 41736
B. 32041
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C. 2311
D. 94568

Q (18)  Find the least number which when decreased by 4 is exactly divisible by 9,12, 15 and 18.

A. 188
) B. 182
Options
C. 186
v D. 184
Q (19) If the mean of the first 10 numbers is 15 and the mean of the next 20 numbers is 24, then what
will be the mean of all 30 numbers?
A. 20
) B. 15
Options
v C. 21
D. 24
Q (20) For what values of K will the pairs of equations x + ky - 1 =0 and x + 2y + 3= 0 be a straight
line parallel to the equation ?
JA. +2
) B. -2
Options
C +3
D. -3
Q1) A number whose cumulative frequency is exactly greater than the median (M) is called what
in the data set?
J A Median
B. Mean
Options
C. Mode
D. None of these
If two dice are rolled simultaneously, what is the probability that the sum of the resulting
Q(22) Y 5
numbers is > 12 ?
A. 1/12
v B. 1/36
Options
C. 3/12
D. 1/18

In a queue, Amirta is 10th from the front while Mukul is 25th from rear and Mamta is just in
Q(23) the middle of the two. If there are 50 persons in the queue, what position does Mamta occupy
from the front?

Options | o, 20th
B.  19th
sC.  18th
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D. 17th
Q (24) A bag contains 5 red, 6 green and 4 blue balls. What is the probability that the bag will
randomly draw a red ball?
A. 1/5
B. 1/3
Options J
2/3
D. 1/6

In the following question various term of a letter-numbered series are given with one term
Q(25) missing as shown by (?). Choose the missing term out of the given alternative.

AZ, CX, FU,?

A. IR
) B. IV
Options
vC. JQ
D. KP
Q (26) Introducing a girl, Vipin said, "Her mother is the only daughter of my mother-in-law." How is
Vipin related to that girl?
A. Uncle
v B. Father
Options

Brother

D. Husband

Q(27)  The rational number 0.37| can also be written as

A. 0.3
_ B. 3/10
Options
C. 0.33
s D. 1/3
Q(28) An alloy contains tin and copper in the ratio 4 : 5. If tin has 20% impurity and copper 58%,
what is the average impurity percentage?
A. 20%
_ v B. 41.1%
Options
35%
D. 38%

In the following question, five pair of words are given, out of which the word in four pairs

bear a certain common relationship. Choose that pair in which the words are differently
QR related.

(a) Student : Scholar (b) Paddy : Rice (c) Auger: Bore (d) Chisel : Cane
Options 4 Student : Scholar
JB. Paddy : Rice

Cc. Auger : Bore
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D. Chisel : Cane

Q (30) Acando 3/4 of a work in 12 days. In how many days can he finish 1/8 of the work?

A. 1 day
B 2 days
Options
C. 3 days
D. 4 days
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